P 2L d https://lwww.pass2lead.com/bccpa.html
ass ea 2024 Latest pass2lead BCCPA PDF and VCE dumps Download

https://Pass2Lead.com

BCCPARSAS

Blue Coat Certified Proxy Administrator V3.03

Pass Blue Coat BCCPA Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/bccpa.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Blue Coat
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest BCCPA Dumps | BCCPA PDF Dumps | BCCPA Braindumps 1/3


https://www.pass2lead.com/bccpa.html
https://www.pass2lead.com/bccpa.html
https://www.pass2lead.com/bccpa.html

P 2L d https://lwww.pass2lead.com/bccpa.html
aSS ea 2024 Latest pass2lead BCCPA PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

It is possible to upgrade the version of ProxyClient installation on a ProxySG without upgrading its SGOS version.
A. True

B. False

Correct Answer: A

QUESTION 2

Why does the Internal HTTP proxy service use the TCP Tunnel proxy by default?

A. Some internal applications are not fully HTTP-compliant, which might cause the ProxySG to reject connections.
B. The TCP Tunnel proxy delivers the best performance for intranet addresses.

C. The TCP Tunnel proxy delivers the best security for intranet addresses.

D. The Internal HTTP proxy service does not use the TCP Tunnel proxy by default.

Correct Answer: A

QUESTION 3
Can ProxySG services configure multiple listeners on the same TCP port?

A. Yes, the service listeners are scanned top down as displayed under Configuration > Services > Proxy Services , and
the first matching listener is always used

B. No, each TCP port can have up to one listener, which is set to either Bypass or Intercept .

C. Yes, the listener with the most specific (longest) network mask is chosen, if there are several listeners configured on
the same port

D. Yes, configuring multiple listeners is used to do internal load balancing; they help to distribute incoming TCP
connections between multiple listener threads

Correct Answer: A

QUESTION 4
From where does the exception exception.user-defined.all inherit its properties?
A. The exception.user-defined definition.

B. The default exception configuration in the Management Console.
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C. The exception.all definition.

Correct Answer: A

QUESTION 5

Which ProxySG technology uses the data processing pipeline similar to the one shown in the picture?

Object Byte
Caching Caching

Bandwidth Protocol

Compression Management || Optimization

A. Blue Coat Reporter
B. MACH5

C. BCWF

D. ProxySG Services

Correct Answer: B
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